Chemistry




NAME ________________________________

Quiz – Stoichiometry # 3

Given the following UNBALANCED equation:



___ KClO3  ( ___  KCl  + ___ O2
The molecular weights for the following compounds are as follows:

KClO3   =
122.55 g/n


KCl       =
74.55 g/n

O2
   =
32 g/n

a
Determine the number of moles of Oxygen gas that is made from 10 moles of 
KClO3

b
Determine the number of grams of Oxygen gas that is made from 10 moles of 
KClO3
c
Determine the number of liters  of Oxygen gas that is made from 10 moles of 
KClO3  at STP

d
Determine the number of grams of KCl that are made from 100 grams of KClO3
